

Asymptotic properties of even-order functional differential equations with deviating argument

B. BACULÍKOVÁ and J. DŽURINA

ABSTRACT. In this paper, new effective technique for investigation of the higher order differential equation (E)

$$y^{(n)}(t) = p(t)y(\tau(t)).$$

is established. We offer new criteria for excluding certain types of nonoscillatory solutions which improve all existing results from the literature. Examples are provided to illustrate the importance of the main results.

1. INTRODUCTION

In this article, we consider the linear differential equation with deviating argument of the form

$$(E) \quad y^{(n)}(t) = p(t)y(\tau(t)),$$

where n is even and the following conditions hold

- (H₁) $p(t) \in C([t_0, \infty))$, $p(t) > 0$,
- (H₂) $\tau(t) \in C^1([t_0, \infty))$, $\tau'(t) > 0$, $\lim_{t \rightarrow \infty} \tau(t) = \infty$.

By a proper solution of Eq. (E) we mean a function $y : [T_y, \infty) \rightarrow R$ which satisfies (E) for all sufficiently large t and $\sup\{|y(t)| : t \geq T\} > 0$ for all $T \geq T_y$. We make the standing hypothesis that (E) does possess proper solutions.

The oscillatory nature of the solutions is understood in the usual way, that is, a proper solution is termed oscillatory or nonoscillatory according to whether it does or does not have infinitely many zeros.

In recent years, there has been increasing interest in studying oscillation of solutions to different classes of differential equations due to the fact that they have numerous applications in natural sciences and engineering, see, for instance, the papers [16] – [17] for models from mathematical biology where oscillation and/or delay actions may be formulated by means of cross-diffusion terms. The problem of establishing oscillation criteria for differential equations with deviating arguments has been a very active research area over the past decades (see [1]–[14] and [19]–[15]) and several references and reviews of known results can be found in the monographs by Agarwal et al. [1], Došlý and Řehák [5] and Ladde et al. [15].

By the well-known result of Kiguradze [7] (Lemma 1), one can easily classify the possible nonoscillatory solutions of (E). As a matter of fact, the set \mathcal{N} of all nonoscillatory solutions of (E) has the following decomposition

$$\mathcal{N} = \mathcal{N}_0 \cup \mathcal{N}_2 \cup \dots \cup \mathcal{N}_n,$$

Received: 26.06.2023. In revised form: 01.10.2023. Accepted: 08.10.2023

2010 Mathematics Subject Classification. 34K11, 34C10.

Key words and phrases. *even order, differential equations, delay, advanced argument, asymptotic properties, oscillation.*

Corresponding author: Jozef Džurina; jozef.dzurina@tuke.sk

where $y(t) \in \mathcal{N}_\ell$ means that there exists $t_0 \geq T_y$ such that

$$(1.1) \quad \begin{aligned} y(t)y^{(i)}(t) &> 0 \quad \text{on } [t_0, \infty) \text{ for } 0 \leq i \leq \ell, \\ (-1)^i y(t)y^{(i)}(t) &> 0 \quad \text{on } [t_0, \infty) \text{ for } \ell \leq i \leq n. \end{aligned}$$

Such a $y(t)$ is said to be a solution of degree ℓ .

Following the classical results of Kiguradze [7], we say that equation (E) enjoys property (B) if $\mathcal{N} = \mathcal{N}_0 \cup \mathcal{N}_n$. This definition formulates the fact that (E) with $\tau(t) \equiv t$ always possesses solutions of degrees 0 and n , that is $\mathcal{N}_0 \neq \emptyset$ and $\mathcal{N}_n \neq \emptyset$. We recall excellent criteria of Koplatadze et al. [11]:

Theorem A. *If $\tau(t) \leq t$ and*

$$(1.2) \quad \limsup_{t \rightarrow \infty} \left\{ \tau(t) \int_t^\infty s^{n-3} \tau(s) p(s) \, ds + \int_{\tau(t)}^t s (\tau(s))^{n-2} p(s) \, ds + \frac{1}{\tau(t)} \int_0^{\tau(t)} s^2 (\tau(s))^{n-2} p(s) \, ds \right\} > 2(n-2)!,$$

then (E) has property (B), i.e., $\mathcal{N} = \mathcal{N}_0 \cup \mathcal{N}_n$.

Theorem B. *If $\tau(t) \geq t$ and*

$$(1.3) \quad \limsup_{t \rightarrow \infty} \left\{ \tau(t) \int_t^\infty s^{n-3} \tau(s) p(s) \, ds + \int_t^{\tau(t)} s^{n-2} \tau(s) p(s) \, ds + \frac{1}{\tau(t)} \int_0^t s^{n-2} (\tau(s))^2 p(s) \, ds \right\} > 2(n-2)!,$$

then (E) has property (B), i.e., $\mathcal{N} = \mathcal{N}_0 \cup \mathcal{N}_n$.

The situation for (E) with $\tau(t) \not\equiv t$ is different. In fact, it may happen that $\mathcal{N}_0 = \emptyset$ or $\mathcal{N}_n = \emptyset$ when the deviation $|t - \tau(t)|$ is sufficiently large. This remarkable fact was first observed by Ladas et al. [15]. Later Koplatadze and Chanturia [12] contributed to the subject and formulated the following results:

Theorem C. *If $\tau(t) \leq t$ and*

$$(1.4) \quad \limsup_{t \rightarrow \infty} \int_{\tau(t)}^t (s - \tau(t))^{n-1} p(s) \, ds > (n-1)!,$$

then (E) does not allow solutions of degree 0, i.e. $\mathcal{N}_0 = \emptyset$.

Theorem D. *If $\tau(t) \geq t$ and*

$$(1.5) \quad \limsup_{t \rightarrow \infty} \int_t^{\tau(t)} (\tau(t) - s)^{n-1} p(s) \, ds > (n-1)!,$$

then (E) does not allow solutions of degree n , i.e. $\mathcal{N}_n = \emptyset$.

So combining Theorem A together with Theorem C we see that $\mathcal{N} = \mathcal{N}_n$ for (E), while joining Theorem B together with Theorem D we obtain that $\mathcal{N} = \mathcal{N}_0$.

Our aim in this work is to significantly improve the above mentioned results and the progress will be demonstrated via set of illustrative examples in which we shall compare our results with these presented in Theorems C and D.

2. MAIN RESULTS

Condition (H_2) implies that there exists the inverse function $\tau^{-1}(t)$ and we can introduce the auxiliary function $\xi(t) \in C^1([t_0, \infty))$ in this way

$$(2.6) \quad \xi(\xi(t)) = \tau^{-1}(t).$$

We present some basic properties of $\xi(t)$.

Lemma 2.1. *Let $\tau(t) < t$. Then*

$$\xi(t) > t, \quad \xi(\xi(\tau(t))) = t, \quad \xi(\tau(t)) = \tau(\xi(t)) = \xi^{-1}(t).$$

We are going to establish sufficient conditions for $\mathcal{N}_0 = \emptyset$ of (E) . For our next consideration we will use the notation

$$(2.7) \quad \begin{aligned} P_1(t) &= \int_t^{\xi(t)} p(s) \frac{(s-t)^{n-1}}{(n-1)!} ds, \\ P_2(t) &= \int_{\xi(t)}^{\tau^{-1}(t)} p(s) \frac{(s-t)^{n-1}}{(n-1)!} ds, \\ P_3(t) &= \int_{\tau^{-1}(t)}^{\tau^{-1}(\xi(t))} p(s) \frac{(s-t)^{n-1}}{(n-1)!} ds. \end{aligned}$$

Theorem 2.1. *Assume that $\tau(t) < t$ and there exists a function $\xi(t) \in C^1([t_0, \infty))$ satisfying (2.6). If*

$$(2.8) \quad \limsup_{t \rightarrow \infty} \left[\frac{P_1(t)P_1(\xi^{-1}(t)) + P_1(t)P_3(\xi^{-1}(t))}{(1 - P_2(t))(1 - P_2(\xi^{-1}(t)))} + \frac{P_3(t)P_1(\xi(t))}{(1 - P_2(t))(1 - P_2(\xi(t)))} \right] > 1,$$

then $\mathcal{N}_0 = \emptyset$.

Proof. Assume on the contrary that $y(t)$ is an eventually positive solution of (E) such that $y(t) \in \mathcal{N}_0$. An integration of (E) from t to ∞ yields

$$-y^{(n-1)}(t) \geq \int_t^\infty p(s)y(\tau(s)) ds.$$

Integrating again from t to ∞ and changing the order of integration, we have

$$y^{(n-2)}(t) \geq \int_t^\infty \int_u^\infty p(s)y(\tau(s)) ds du = \int_t^\infty p(s)y(\tau(s))(s-t) ds.$$

Repeating this procedure, we are led to

$$(2.9) \quad y(t) \geq \int_t^\infty p(s)y(\tau(s)) \frac{(s-t)^{n-1}}{(n-1)!} ds.$$

Employing function $\xi(t)$ to the above inequality gives

$$(2.10) \quad \begin{aligned} y(t) &\geq \int_t^{\xi(t)} p(s)y(\tau(s)) \frac{(s-t)^{n-1}}{(n-1)!} ds + \int_{\xi(t)}^{\tau^{-1}(t)} p(s)y(\tau(s)) \frac{(s-t)^{n-1}}{(n-1)!} ds \\ &\quad + \int_{\tau^{-1}(t)}^{\tau^{-1}(\xi(t))} p(s)y(\tau(s)) \frac{(s-t)^{n-1}}{(n-1)!} ds. \end{aligned}$$

Since $y(t)$ is decreasing function, we are led to

$$y(t) \geq y(\xi^{-1}(t))P_1(t) + y(t)P_2(t) + y(\xi(t))P_3(t),$$

which is

$$(2.11) \quad y(t) \geq \frac{1}{1 - P_2(t)} [y(\xi^{-1}(t))P_1(t) + y(\xi(t))P_3(t)].$$

Setting $t = \xi^{-1}(t)$ and $t = \xi(t)$, we obtain

$$(2.12) \quad y(\xi^{-1}(t)) \geq \frac{1}{1 - P_2(\xi^{-1}(t))} [y(\tau(t))P_1(\xi^{-1}(t)) + y(t)P_3(\xi^{-1}(t))]$$

and

$$(2.13) \quad y(\xi(t)) \geq \frac{1}{1 - P_2(\xi(t))} [y(t)P_1(\xi(t)) + y(\tau^{-1}(t))P_3(\xi(t))] \geq \frac{P_1(\xi(t))}{1 - P_2(\xi(t))} y(t),$$

respectively. Combining (2.12), (2.13) and (2.11), one gets

$$y(t) \geq \frac{1}{1 - P_2(t)} \left[\frac{P_1(t)}{1 - P_2(\xi^{-1}(t))} [y(\tau(t))P_1(\xi^{-1}(t)) + y(t)P_3(\xi^{-1}(t))] + \frac{P_3(t)}{1 - P_2(\xi(t))} y(t)P_1(\xi(t)) \right]$$

which in view of $y(\tau(t)) \geq y(t)$, leads to

$$y(t) \geq y(t) \left[\frac{[P_1(t)P_1(\xi^{-1}(t)) + P_1(t)P_3(\xi^{-1}(t))]}{(1 - P_2(t))(1 - P_2(\xi^{-1}(t)))} + \frac{P_3(t)P_1(\xi(t))}{(1 - P_2(t))(1 - P_2(\xi(t)))} \right].$$

This contradicts (2.8) and we conclude that $\mathcal{N}_0 = \emptyset$. □

The following criteria immediately result from the proof of Theorem 2.1.

Corollary 2.1. *If $P_2(t) > 1$, then $\mathcal{N}_0 = \emptyset$.*

Corollary 2.2. *Let $P_i(t) \geq P_i^*$, for $i = 1, 2, 3$, where P_i^* are positive constants. If*

$$(2.14) \quad \frac{1}{(1 - P_2^*)^2} [(P_1^*)^2 + 2P_1^*P_3^*] > 1,$$

then $\mathcal{N}_0 = \emptyset$.

Remark 2.1. The assertion of Theorem 2.1 can be reformulated as every bounded solution is oscillatory.

Now we provide couple of illustrative examples to show the progress that Theorem 2.1 yields in regard of Theorem C.

Example 2.1. Consider even-order differential equation with delay argument of the form

$$(Ex1) \quad y^{(n)}(t) = p_0^n y(t - n\tau_0),$$

where $p_0 > 0$, $\tau_0 > 0$.

Since $\tau(t) = t - n\tau_0$, we have $\tau^{-1}(t) = t + n\tau_0$ and auxiliary function $\xi(t) = t + \frac{n}{2}\tau_0$. It is easy to verify that

$$P_1(t) = \int_t^{t+\frac{n}{2}\tau_0} p_0^n \frac{(s-t)^{n-1}}{(n-1)!} ds = \frac{p_0^n n^n \tau_0^n}{2^n n!} = P_1^*,$$

$$P_2(t) = \int_{t+\frac{n}{2}\tau_0}^{t+n\tau_0} p_0^n \frac{(s-t)^{n-1}}{(n-1)!} ds = \frac{p_0^n n^n \tau_0^n}{n!} \left(1 - \left(\frac{1}{2} \right)^n \right) = P_2^*,$$

$$P_3(t) = \int_{t+n\tau_0}^{t+\frac{3n}{2}\tau_0} p_0^n \frac{(s-t)^{n-1}}{(n-1)!} ds = \frac{p_0^n n^n \tau_0^n}{n!} \left(\left(\frac{3}{2} \right)^n - 1 \right) = P_3^*.$$

Consequently condition (2.14) takes the form

$$\left(\frac{p_0^n n^n \tau_0^n}{2^n n!} \right)^2 + 2 \frac{p_0^n n^n \tau_0^n}{2^n n!} \frac{p_0^n n^n \tau_0^n}{n!} \left(\left(\frac{3}{2} \right)^n - 1 \right) > \left[1 - \frac{p_0^n n^n \tau_0^n}{n!} \left(1 - \left(\frac{1}{2} \right)^n \right) \right]^2,$$

which implies that

$$(2.15) \quad p_0^n \tau_0^n > \frac{2^n \cdot n!}{(2 \cdot 3^n - 2^{2n}) n^n} \left(\sqrt{2 \cdot 3^n - 2^{n+1}} + 1 - 2^n + 1 \right)$$

and by Corollary 2.2 condition (2.15) guarantees that $\mathcal{N}_0 = \emptyset$. On the other hand, condition (1.2) holds true, therefore we conclude that every nonoscillatory solution is of degree n , i.e., $\mathcal{N} = \mathcal{N}_n$.

To see the progress which our criteria bring, let us consider $n = 4$ ($n = 6$). The condition (2.15) is fulfilled for

$$p_0 \tau_0 > 0.488 \quad (p_0 \tau_0 > 0.4636)$$

while (1.4) requires $p_0 \tau_0 > 0.5533$ ($p_0 \tau_0 > 0.4990$).

Example 2.2. We consider the even-order Euler delayed differential equation

$$(E_{x2}) \quad y^{(n)}(t) = \frac{p_0}{t^n} y(\lambda t), \quad p_0 > 0, \quad \lambda \in (0, 1).$$

First we observe that (1.2) reduces to

$$(2.16) \quad p_0 (\lambda^2 - \lambda^{n-2} \ln \lambda + \lambda^{n-3}) > 2(n-2)!.$$

Since $\tau(t) = \lambda t$, then $\tau^{-1}(t) = \frac{t}{\lambda}$ and $\xi(t) = \frac{t}{\sqrt{\lambda}}$. It is easy to verify that

$$P_1(t) = \frac{p_0}{(n-1)!} \left[\ln \frac{1}{\sqrt{\lambda}} - \sum_{i=1}^{n-1} \frac{(1-\sqrt{\lambda})^{n-i}}{n-i} \right] = P_1^*,$$

$$P_2(t) = \frac{p_0}{(n-1)!} \left[\ln \frac{1}{\sqrt{\lambda}} - \sum_{i=1}^{n-1} \frac{(1-\lambda)^{n-i} - (1-\sqrt{\lambda})^{n-i}}{n-i} \right] = P_2^*,$$

$$P_3(t) = \frac{p_0}{(n-1)!} \left[\ln \frac{1}{\sqrt{\lambda}} - \sum_{i=1}^{n-1} \frac{(1-\lambda\sqrt{\lambda})^{n-i} - (1-\lambda)^{n-i}}{n-i} \right] = P_3^*.$$

So condition (2.14) with calculated constants P_1^*, P_2^*, P_3^* together with (2.16) implies that every nonoscillatory solution of (E_{x2}) is of degree n . To see quality of our criterion, we consider (E_{x2}) with $\lambda = 0.5$ and $n = 4$ ($n = 6$). The condition (2.14), which guaranties that $\mathcal{N}_0 = \emptyset$ is fulfilled for

$$p_0 > 143 \quad (p_0 > 17200)$$

while (1.4) requires $p_0 > 227$ ($p_0 > 26000$).

Now we offer sufficient conditions for $\mathcal{N}_n = \emptyset$. Condition (H_2) implies that there exists the inverse function $\tau^{-1}(t)$ and we can introduce the auxiliary function $\chi(t) \in C^1([t_0, \infty))$ in this way

$$(2.17) \quad \chi(\chi(t)) = \tau^{-1}(t).$$

We present some basic properties of $\chi(t)$.

Lemma 2.2. Let $\tau(t) > t$. Then

$$\chi(t) < t, \quad \chi(\chi(\tau(t))) = t, \quad \chi(\tau(t)) = \tau(\chi(t)) = \chi^{-1}(t).$$

We shall use the notation

$$(2.18) \quad \begin{aligned} Q_1(t) &= \int_{\tau^{-1}(\chi(t))}^{\tau^{-1}(t)} p(s) \frac{(t-s)^{n-1}}{(n-1)!} ds, \\ Q_2(t) &= \int_{\tau^{-1}(t)}^{\chi(t)} p(s) \frac{(t-s)^{n-1}}{(n-1)!} ds, \\ Q_3(t) &= \int_{\chi(t)}^t p(s) \frac{(t-s)^{n-1}}{(n-1)!} ds. \end{aligned}$$

Theorem 2.2. Assume that $\tau(t) \geq t$ and there exists a function $\chi(t) \in C^1([t_0, \infty))$ satisfying (2.17). If

$$(2.19) \quad \limsup_{t \rightarrow \infty} \left[\frac{Q_3(t)Q_1(\chi^{-1}(t)) + Q_3(t)Q_3(\chi^{-1}(t))}{(1-Q_2(t))(1-Q_2(\chi^{-1}(t)))} + \frac{Q_1(t)Q_3(\chi(t))}{(1-Q_2(t))(1-Q_2(\chi(t)))} \right] > 1,$$

then $\mathcal{N}_n = \emptyset$.

Proof. Assume on the contrary that (E) possesses an eventually positive solution $y(t) \in \mathcal{N}_n$. An integration of (E) from t_1 to t yields

$$y^{(n-1)}(t) \geq \int_{t_1}^t p(s)y(\tau(s)) ds.$$

Integrating the above inequality from t_1 to t and swapping order of integration, we obtain

$$y^{(n-2)}(t) \geq \int_{t_1}^t p(s)y(\tau(s))(t-s) ds.$$

Repeating this approach $n-3$ times, we finally obtain

$$y(t) \geq \int_{t_1}^t p(s)y(\tau(s)) \frac{(t-s)^{n-1}}{(n-1)!} ds.$$

Employing auxiliary function $\chi(t)$, we get

$$(2.20) \quad \begin{aligned} y(t) &\geq \int_{\tau^{-1}(\chi(t))}^{\tau^{-1}(t)} p(s)y(\tau(s)) \frac{(t-s)^{n-1}}{(n-1)!} ds + \int_{\tau^{-1}(t)}^{\chi(t)} p(s)y(\tau(s)) \frac{(t-s)^{n-1}}{(n-1)!} ds \\ &+ \int_{\chi(t)}^t p(s)y(\tau(s)) \frac{(t-s)^{n-1}}{(n-1)!} ds. \end{aligned}$$

Taking into account that $y(t)$ is an increasing function, we have

$$(2.21) \quad y(t) \geq Q_1(t)y(\chi(t)) + Q_2(t)y(t) + Q_3(t)y(\chi^{-1}(t)).$$

Substituting in the last inequality $t = \chi(t)$ and thereafter $t = \chi^{-1}(t)$ and assuming that $1 - Q_2(t)$ is eventually positive, we obtain

$$(2.22) \quad \begin{aligned} y(\chi(t)) &\geq \frac{1}{1-Q_2(\chi(t))} [Q_1(\chi(t))y(\tau^{-1}(t)) + Q_3(\chi(t))y(t)] \\ &\geq \frac{Q_3(\chi(t))}{1-Q_2(\chi(t))} y(t) \end{aligned}$$

and

$$(2.23) \quad y(\chi^{-1}(t)) \geq \frac{1}{1 - Q_2(\chi^{-1}(t))} [Q_1(\chi^{-1}(t))y(t) + Q_3(\chi^{-1}(t))y(\tau(t))],$$

respectively. Setting (2.22) and (2.23) into (2.21) and using that $y(t)$ is an increasing function, we get

$$y(t) \geq \frac{1}{1 - Q_2(t)} \left[\frac{Q_1(t)Q_3(\chi(t))}{1 - Q_2(\chi(t))} y(t) + \frac{Q_3(t)}{1 - Q_2(\chi^{-1}(t))} [y(t)Q_1(\chi^{-1}(t)) + y(t)Q_3(\chi^{-1}(t))] \right],$$

which contradicts to (2.19) and we conclude that $\mathcal{N}_n = \emptyset$. \square

The following criteria ensue immediately from the proof of Theorem 2.2.

Corollary 2.3. *If $Q_2(t) > 1$, then $\mathcal{N}_n = \emptyset$.*

Corollary 2.4. *Let $Q_i(t) > Q_i^*$, for $i = 1, 2, 3$, where Q_i^* are positive constants. Assume that*

$$(2.24) \quad \frac{1}{(1 - Q_2^*)^2} [(Q_3^*)^2 + 2Q_1^*Q_3^*] > 1.$$

Then $\mathcal{N}_n = \emptyset$.

Theorem 2.3. *Assume that $\tau(t) \geq t$ and there exists a function $\chi(t) \in C^1([t_0, \infty))$ satisfying (2.17). If (2.19) and (1.3) hold, then every unbounded solution is oscillatory.*

Example 2.3. Consider even-order differential equation with advanced argument of the form

$$(E_{x3}) \quad y^{(n)}(t) = p_0^n y(t + n\tau_0),$$

where $p_0 > 0$, $\tau_0 > 0$.

For equation (E_{x3}) we have $\tau(t) = t + n\tau_0$, and thus $\tau^{-1}(t) = t - n\tau_0$, $\chi(t) = t - \frac{n}{2}\tau_0$, $\chi^{-1}(t) = t + \frac{n}{2}\tau_0$. Some computation yields

$$Q_1(t) = \int_{t - \frac{3}{2}n\tau_0}^{t - n\tau_0} p_0^n \frac{(t-s)^{n-1}}{(n-1)!} ds = \frac{p_0^n n^n \tau_0^n}{n!} \left(\left(\frac{3}{2} \right)^n - 1 \right) = Q_1^*,$$

$$Q_2(t) = \int_{t - n\tau_0}^{t - \frac{n}{2}\tau_0} p_0^n \frac{(t-s)^{n-1}}{(n-1)!} ds = \frac{p_0^n n^n \tau_0^n}{n!} \left(1 - \left(\frac{1}{2} \right)^n \right) = Q_2^*,$$

$$Q_3(t) = \int_{t - \frac{n}{2}\tau_0}^t p_0^n \frac{(t-s)^{n-1}}{(n-1)!} ds = \frac{p_0^n n^n \tau_0^n}{n! 2^n} = Q_3^*.$$

Settings Q_1^* , Q_2^* , Q_3^* into condition (2.24), we get

$$\left(\frac{p_0^n n^n \tau_0^n}{2^n n!} \right)^2 + 2 \frac{p_0^n n^n \tau_0^n}{2^n n!} \frac{p_0^n n^n \tau_0^n}{n!} \left(\left(\frac{3}{2} \right)^n - 1 \right) > \left[1 - \frac{p_0^n n^n \tau_0^n}{n!} \left(1 - \left(\frac{1}{2} \right)^n \right) \right]^2,$$

which implies that

$$(2.25) \quad p_0^n \tau_0^n > \frac{2^n \cdot n!}{(2 \cdot 3^n - 2^{2n})n^n} \left(\sqrt{2 \cdot 3^n - 2^{n+1} + 1} - 2^n + 1 \right).$$

By Corollary 2.4 condition (2.25) guarantees that $\mathcal{N}_n = \emptyset$ and moreover it is easy see that (1.3) holds true and we conclude that every nonoscillatory solution of (E_{x3}) is of

degree n , i.e., $\mathcal{N} = \mathcal{N}_n$. To see the improvement which our criteria brings, let us consider $n = 4$ ($n = 6$). The condition (2.25) is fulfilled for

$$p_0\tau_0 > 0.4880 \quad (p_0\tau_0 > 0.4636)$$

while (1.5) requires $p_0\tau_0 > 0.5533$ ($p_0\tau_0 > 0.4990$).

Example 2.4. We consider the even-order advanced Euler differential equation

$$(E_{x_4}) \quad y^{(n)}(t) = \frac{p_0}{t^n} y(\lambda t), \quad p_0 > 0, \quad \lambda > 1.$$

It is easy to see that (1.3) reduces to

$$(2.26) \quad p_0\lambda(2 + \ln \lambda) > 2(n-2)!.$$

Now $\tau(t) = \lambda t$, so that $\tau^{-1}(t) = \frac{t}{\lambda}$, $\chi(t) = \frac{t}{\sqrt{\lambda}}$ and $\chi^{-1}(t) = \sqrt{\lambda}t$. Consequently,

$$Q_1(t) = \frac{p_0}{(n-1)!} \left[\ln \frac{1}{\sqrt{\lambda}} + \sum_{i=1}^{n-1} \frac{(-1)^i (\lambda-1)^{n-i} - (\lambda\sqrt{\lambda}-1)^{n-i}}{n-i} \right] = Q_1^*,$$

$$Q_2(t) = \frac{p_0}{(n-1)!} \left[\ln \frac{1}{\sqrt{\lambda}} + \sum_{i=1}^{n-1} \frac{(-1)^i (\sqrt{\lambda}-1)^{n-i} - (\lambda-1)^{n-i}}{n-i} \right] = Q_2^*,$$

$$Q_3(t) = \frac{p_0}{(n-1)!} \left[\ln \frac{1}{\sqrt{\lambda}} + \sum_{i=1}^{n-1} \frac{(-1)^{i+1} (\sqrt{\lambda}-1)^{n-i}}{n-i} \right] = Q_3^*.$$

By Theorem 3 condition (2.24) together with (2.26) implies that every nonoscillatory solution of (E_{x_4}) is of degree 0 (every unbounded solution is oscillatory). To show the improvement of our criterion, we consider (E_{x_4}) with $\lambda = 1.5$ and $n = 4$ ($n = 6$). The condition (2.24), which guaranties $\mathcal{N}_n = \emptyset$ is fulfilled for

$$p_0 > 317 \quad (p_0 > 41750)$$

while (1.5) requires $p_0 > 536$ ($p_0 > 65700$).

REFERENCES

- [1] Agarwal, R. P.; Grace, S. R.; O'Regan, D., *Oscillation Theory for Second Order Linear, Half-linear, Superlinear and Sublinear Dynamic Equations*. Kluwer Academic Publishers, Dordrecht 2002.
- [2] Baculikova, B. Oscillation of second-order nonlinear noncanonical differential equations with deviating argument. *Appl. Math. Lett.* **91** (2019), 68–75.
- [3] Baculikova, B. Oscillatory behavior of the second order noncanonical differential equation. *Electron. J. Qual. Theory Differ. Equ.* **89** (2019), 1–17.
- [4] Baculikova, B. Oscillation and Asymptotic Properties of Second Order Half-Linear Differential Equations with Mixed Deviating Arguments. *Mathematics* **9** (2021), 1–12.
- [5] Došly, O.; Řehák, P. Half-linear Differential Equations. *North-Holland Mathematics Studies* **202** (2005).
- [6] Džurina, J.; Baculikova, B. Oscillation of half-linear differential equation with mixed type of argument. *Electron. J. Qual. Theory Differ. Equ.* **10** (2022), 1–8.
- [7] Kiguradze, I. T. On the oscillation of solutions of the equation $\frac{d^m u}{dt^m} + a(t)|u|^n \operatorname{sign} u = 0$. *Mat. Sb.* **65** (1964), 172–187. (Russian)
- [8] Kiguradze, I. T.; Chaturia, T. A. *Asymptotic Properties of Solutions of Nonautonomous Ordinary Differential Equations*. Kluwer Acad. Publ., Dordrecht 1993.
- [9] Koplatadze, R. On differential equations with a delayed argument having properties A and B. *Differentsial'nye Uravneniya* **25** (1989), 1897–1909.
- [10] Koplatadze, R. On oscillatory properties of solutions of functional differential equations. *Mem. Differential Equations Math. Phys.* **3** (1994), 1–179.
- [11] Koplatadze, R.; Kvinkadze, G.; Stavrulakis, I. P. Properties A and B of n-th order linear differential equations with deviating argument. *Georgian Math. J.* **6** (1999), 553–566.
- [12] Koplatadze, R.; Chanturia, T. A. *On oscillatory properties of differential equations with deviating arguments*. Tbilisi Univ. Press, Tbilisi, 1977.

- [13] Kusano, T. On even order functional differential equations with advanced and retarded arguments. *J. Differential Equations* **45** (1982), 75–84.
- [14] Kusano, T. Oscillation of even order linear functional differential equations with deviating arguments of mixed type. *J. Math. Anal. Appl.* **98** (1984), 341–347.
- [15] Laddas, G.; Lakshmikantham, V.; Papadakis J. S., *Oscillation of higher-order retarded differential equations generated by retarded argument*. Delay and Functional Differential Equations and Their Applications, Academic Press, New York, 1972.
- [16] Li, Tx.; Pintus, N., Viglialoro, G. Properties of solutions to porous medium problems with different sources and boundary conditions. *Z. Angew. Math. Phys.* **70** (2019), 1–18.
- [17] Li, Tx.; Viglialoro, G. Boundedness for a nonlocal reaction chemotaxis model even in the attraction-dominated regime. *Differential Integral Equations* **34** (2021), 315–336.
- [18] Li, Tx.; Frassu, S.; Viglialoro, G. Combining effects ensuring boundedness in an attraction-repulsion chemotaxis model with production and consumption. *Z. Angew. Math. Phys.* **74** (2023), Art. 109, 1–21.
- [19] Li, Tx.; Rogovchenko, Y. Oscillation criteria for even-order neutral differential equations. *Appl. Math. Lett.* **61** (2016), 35–41.
- [20] Li, Tx.; Rogovchenko, Y. Oscillation criteria for second-order superlinear Emden-Fowler neutral differential equations. *Monatsh. Math.* **184** (2017), 489–500.

DEPARTMENT OF MATHEMATICS
FACULTY OF ELECTRICAL ENGINEERING AND INFORMATICS
TECHNICAL UNIVERSITY OF KOŠICE
KOŠICE, SLOVAKIA
Email address: blanka.baculikova@tuke.sk
Email address: jozef.dzurina@tuke.sk